CD-ID: Narex CZ 2016_v14r01

65404810 - EPL 12-7 BE

35

34

26
'\r

A\

P {
Yy

12
19

VA

10

Stranalz3

10.8.2016



65404810 - EPL 12-7 BE

CD-ID: Narex CZ 2016_v14r01

Pozice |Polozka M noZstv Nazev Typ Poznamka :oﬁ:;oi‘:(:i
1 65403612 1 |Tahlo EPL 12-7 BE
2 65403613 1 |Kulisa EPL 12-7 BE
5 65403614 1|Sroub EPL 12-7 BE
6 65403615 1| Packa EPL 12-7 BE
7 65403616 1 |Pruzina PT 3,5x70
8| 65403617 2| Sroub M4x12
9 65403618 2 | Sroub EPL 12-7 BE

10 65403619 1 | Viko prevodovky PT 3,5x30 PzV
11 65403620 7| Sroub EPL 12-7 BE
12 65403621 1| Skfin M4x20
13 65403622 2| Sroub EPL 12-7 BE
14 65403623 1 |Tésnéni EPL 12-7 BE
15 65403624 1 | Lozisko A 8x0,8
16 65403625 1 | Pojistny krouzek S8x14x1,2
17 65403626 1 | Podlozka EPL 12-7 BE
18 65403627 1 | Vystrednik EPL 12-7 BE
19 65403628 1 |Zavazi EPL 12-7 BE
20 65403629 1 | Packa EPL 12-7 BE
22 65403630 1 | Ozubené kolo EPL 12-7 BE
23 65403631 1 | Podlozka PT3,5x30
24 65403632 2 | Sroub EPL 12-7 BE
25 65403633 1 |Tésnéni EPL 12-7 BE
26 65403634 1 | Prevodova skfin EPL 12-7 BE
27 65403635 1 | Drzak rolni¢ky EPL 12-7 BE
29 65403636 1 | Drzak M3x8
30| 65403637 1|Sroub EPL 12-7 BE
31 65403618 1 |Sroub EPL 12-7 BE
32 65403639 1 | Packa predkmitu 608 RS/Z C3
33 65403640 1 | Lozisko EPL 12-7 BE
34 65403641 1 |Vétrak EPL 12-7 BE
35 65403642 1| Rotor EPL 12-7 BE
36 65403643 1 | Lozisko EPL 12-7 BE
37 65403644 1 | Tachokrouzek EPL 12-7 BE
38 65403645 1 | Vzduchovodna vlozka PT 3x12 K-Torx
39 65403646 1|Sroub EPL 12-7 BE
40 65403647 1 | Stator EPL 12-7 BE
41 65403648 1 | Motorova skfin EPL 12-7 BE
42 65403649 1 | Karta¢; sada 2 ks EPL 12-7 BE
43 65403650 1 | Drzak kartace; sada 2 ks EPL 12-7 BE
45 65403651 1 | Elektronika EPL 12-7 BE
46 65403652 1| Spinac EPL 12-7 BE
47| 65403653 1| Kryt M5
48 65403654 1 | Matice EPL 12-7 BE
10.8.2016 Strana2z3



65404810 - EPL 12-7 BE

CD-ID: Narex CZ 2016_v14r01

Pozice |Polozka M noZstv Nazev Typ Poznamka :oﬁ:;oi‘:(:i
50| 65403656 1|Sané EPL 12-7 BE
51| 65403657 1| Podlozka EPL 12-7 BE
52 65403658 1| Vlozka sani M4x7
53| 65403659 6 | Sroub M5x25
54| 65403660 1|Sroub EPL 12-7 BE
55| 65403661 1|Sané komplet EPL 12-7 BE
56| 66622066 1| Pohybl.pfivod HO5 RN-F 2x1 EURO 4m 66638264
57 219031 2 | Sroub PT-3,5x10-KT15
58| 65403663 1| PFichytka EPR 40-20
59| 66445738 1| Navlacka EBU 15 G
10.8.2016 Strana 3z 3



